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Our summer holidays (Z{&)last two months. In the last
week of the holidays we get ready for school. We buy pen-
cils ,pens ,paper.new books and copy books. On the first day
of school we see all our old friends again and we tell one an-
other about the holidays. After that we go into class. It is
hard to keep quiet (% #tfJ)and pay attention ({F & )to the
teacher. He always says with a laugh, “You forget (& i)

more in two months than you learn in a year. ”

Choose the correct answers
( )1. We have of summer holidays.



( )2
()3
(4
( )5
SNy
y o,k
y 2 ¢
BT

A. about seven weeks B. two months

C.a week D. two weeks

. It takes us a week to

A. buy books B. buy pens and pencils
C. go to school D. get ready for school

. We tell .

A. our friends about the holidays
B. our teacher about the holidays
C. our friends about the teacher

D. the teacher about our friends’ holidays

. We can’t listen to the teacher

A. quiet B. careful
C. quietly D. not hard

. The teacher says that ;

A. we forget too much
B. we learn much in a year
C. we learn very much in two months

D. we will learn more in a year
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Dear Mama,

I am glad to tell you that I am getting on very well in
school. I have got to know more boys and feel happier than
before. I am working hard at my lessons. The three boys
now live with me and they are nice to me.

In the evening I usually play table tennis. I can play bet-
ter now. Our g.lﬁss teacher is Mr Smith. At first I did not like
him. Now I see I was wrong. He is really a good teacher. He
often plays,works,and talks with us like a friend.

Jack is my best friend. He is a clever and hard-working
boy. He is good at games and lessons. We study together and
often go for long walks.

Well,I must stop now. Please send my love to Papa and

those at home.

Yours loving son
Ted

Choose the correct answers:

. )1. The writer is in the school.

A.a new boy B. an old boy

C.a girl D. a teacher
( | )2. Ted likes to play !
' A.all games B. football



C. basketball D. Ping-Pong
( )3. Mr Smith is the .

A. headmaster (¢ ) B. teacher

C. monitor (FE) D. friend of Ted
( )4. The writer likes __ best.

A. Ted B. his classmates

C. Jack D. the headmaster
( )5. Ted and Jack often .

A. go for a walk B. go shopping

C. go to school D. fly kites
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Air is always around us. From the moment we are
born,we are surrounded ([ %%)by air. When we sit down,it
is around us. When we go to bed,air is also around us. We
live in air.

All living' things need air. They cannot live without air.
We can go without food or water for a few days,but we can-
not live for more than a few minutes without air. When we
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are working or running, we need more air. So we breathe

faster than usual. When we are asleep,we need less air.

KK HOH K

Choose the correct answers .

(

).

)2.

)3.

)4.

)5.

Air is always around us,
A. but we don’t need any

B. ar:d we can catch some to eat
C. but we can’t see it

D. and we live happily without it
__need air.

A. Some of the animals

B. All the things

C. Some of the plants

D. All the animals and plants
We can live for a few days
A. without air

B. without water or food

C. without food or air

D. without air or water

We need air when we are asleep.
A. less B. no
C. most D. a lot of

Which of the following sentences is right?

A. Sometimes we don’t live in air



B. Air isn’t around us when we go to bed
C. We can live for only one minute without air
D. We. breathe faster than usual when we’re run-

ning or working
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Taiwan is China’s biggest island. It lies southeast of Fu-
jian province (}& # 4 ). Taiwan has 79 islands:the Main Is-
land ,the Penghu Islands ({# %1 & )and a number of others.
Taibei is the capital of the province.

The weather of Taiwan is very hot,there is often much
rain the year round. It never snows in winter,and even in au-
tumn, rice grows. So the island is -always covered with
greens the whole year.

There are not many rivers in Taiwan. They are rather
short. They come from the high mountains and run into the
sea.

Taiwan has been part of China since ancient times ( § #r
PA3#). The people of Taiwan are the bone and flesh brothers
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of the people on the mainland of our motherland ((H & ). Af-
ter 40 years of separation (435 ) ,the important tast ({£5)of
reunifying (4 —)our motherland now lies before every Chi-

nese. We must join hands and work together for this glori-

ous goal. (ZfERY HIR.

Choose the correct ahswers

( )1. Taiwan is __ the southeast of China.
A.in bL.on
Cito D. at
( )2. Taiwan is bigger than - island in China.
A. any B. other
C. any other D. the other
( )3. The capital of the province is .
A. Gaoxiong B. Taibei
C. Jilong D. Jimen
( )4. Taiwan has _ besides the Penghu Islands.
A. 80 B. 79
C.78 De77
( )5. Which of the following sentences is true? Ay

A. Tt never rains and snows in Taiwan

B. Many long rivers in Taiwan come from the
_high mountains and run into the sea

C. Taiwan is covered with greens only in spring
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D). Taiwan has been part of China since ancient

times and we must reunity our motherland
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Xiao Bin’s father is ill. His mother must look after him
at home. So she says to her son,“Go to the hospital ,and ask
a doctor to come here,Xiao Bin. ”

“0O. K. ”says the boy. “But where is the hospital?”

“In the town,”answers his mother.

Then Xiao Bin leaves his house. He gets to a fork (7 i
7). He doesn’t know he must turn to the left or right. He
stands there. Just then a farmer drives a carriage and comes.

“How far is the town from here?”asks Xiao Bin.

“Two kilometres,”answers the farmer.

“May I take your carriage?”
“Certainly. ”

“Thank you very much,”Xiao Bin is happy and gets on

the carriage. Half an hour later the carriage doesn’t get to
the town.
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“How far is the town from here?”Xiao Bin asks again.
“Four kilometres, "says the farmer.
“Why is the town farther now?”

“The carriage is going in the opposite direction. ”

Choose the correct answers:
( )1. Xiao Bin must ask a doctor to come because
A. his father is busy
B. his mother must look after his father
C. the town is not far
D. he often goes there
( )2. _ ,so he stops at the fork.
A. Xiao Bin wants to have a rest
B. Xiao Bin doesn’t know how to get to the town
C. Xiao Bin must go to he town by himself GEH)
D. Xiao Bin wants to wait for the carriage
( )3. Half an hour later Xiao Bin is farther from the
town because
A. the farmer is afraid of him
B. the farmer takes him to another hospital
C. the carriage goes very fast
D. the carriage takes him to the opposite direction
( )4. Xiao Bin wants .

A. the farmer to take him to the town



B. to know he must turn to the left or right
C. to take the farmer’s carriage
D. the farmer to tell him where the town is
( )5. The townis _ kilometres from Xiao Bin at that

time.
A.two B. four C. six D. eight
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It’s Sunday. Mike does not go to school. But he isn’t at
home. He’s now sitting on a bus. He’s going to the cinema
(H P,

An old woman gets on the bus. Mike stands up and says
to her, “Come and sit here, please. ” The old woman goes
over and sits down. She says, “Thank you very much,dear
little boy. ”

The bus stops near the cinema. Mike says goodbye to
the old woman and gets off the bus. The old woman smiles

and says goodbye to him,too.

oKX KO K
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Choose the correct answers:
( )1. How many people are there in the story?
A.One B. Two C. Three D. Four
( )2. What’s Mike going to do? He’s going .
A. to school B. to see a film
C. to do some shoppingD. to get on a bus
( )3. Now Mike is .
A. at a bus stop B.on a bus
C. at the cinema D. in the school
( )4. Who does Mike give his seat to?
A. A young man B. An old man
C. An old woman  D. A little boy
( )5. Which is true?
A. The bus stops not far from the cinema
B. The little boy and the old woman get off the
bus.
C. The old woman gets off the bus first
D. Mike gets off the bus and says goodbye to the

old woman and the driver
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Martin Baker is a bus driver. He lives in a small town
with his wife and four children. His wife’s father ,Mr Butch-
er,lives with them,too. He is too old ta do and work. He sits
in his chair (# F) by the fireside ( X 4 3% ) all day, but in
summer, when it is warm enough to sit outside, he some-
times takes his chair into the garden.

Mr Baker has been very ill for over a month. He has
been too ill to go to work. And he can’t drive his bus.

Martin’s oldest son is twenty-five. He teaches in a vil-
lage school. He lives in the village because it takes too long
to travel there every day from his father’s house. The other
children are not yet old enough to go out to work. They still
go to school except the youngest daughter. She is only four

and a half. She is too young to go to school.

Choose the correct answers ;

( )1. How many people are living in Mr Baker’s house?

A. Six B. Seven
C. Eight D. Five
( )2. Mr Baker has been away from work for .
A.only a month B. more than a month
C. a summer D. three months
( )3. What is Mrs Baker’s oldest son? Heisa .
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